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sizeof (O 0O)
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0000000o00bO0obOOoooOooobOobDoOooooooOobooooon
00000DOO00D0O00D0DO0O0A0O sizeof.c OO M
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typedef 0 0 typedef 00D O00O0OD0O0ODOODOODOOOOOOODOODOODOOO
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typedef [I O ‘typedefD 00000 ;| 000 typedef unsigned size_t;
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sizeof 0 00 OO (sizeof.c)

#include <stdio.h>

void foo(int x[]) {
printf("sizeof(x)_=_%u\n", (unsigned)sizeof(x));

}

int main(void) {
int a[] = {1, 2, 3 };

printf("sizeof(a)_=_%u\n", (unsigned)sizeof(a));
foo(a);
return 0;

}

U0000000000b00000Db0 sizeof DOOD0ODOOODODOO
ooo
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000000000 (hanoi.c)

#include <stdio.h>

void move(int n, int a, int b) {
printf("OO000%d0O 0 %d0 O O %d0 \n", n, a, b);
}

Srn0000000&a00bpO0OOCOOOOO */
void hanoi(int n, int a, int b, int c) {
if (n> 0) {
hanoi(n - 1, a, c, b);
move(n, a, b);
hanoi(n - 1, c, b, a);

}

int main(void) {
int n;
printf("OO0O0O00O0O7?."); scanf("%d", &n);
hanoi(n, 1, 2, 3);
return 0;

00000000 (tree.c)

#include <stdio.h>
#include <math.h>

void drawTree(int d, double x, double y, double r, double t) {

/% d ---Q0O00o0ooaon

(x, y) ---0Q000o0b0oa

r ---000o0oo

t ---00o0o0oo0oooooooog=*/
double ri;
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23
24
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26

int

if (d == 0) return; /* OO 0O */

printf("%6.3f.%6.3£f.%6.3f.%6.3f\n",

X, v, X +r * cos(t), y+r * sin(t));
drawTree(d - 1, x + r * cos(t),

y +r * sin(t), 0.5 * r, t);

rl =0.5 * r;
drawTree(d - 1, rl * cos(t),
rl * sin(t), 0.5 * r, t + 3.1416 / 2);
rl * cos(t),

rl * sin(t), 0.5 * r, t - 3.1416 / 2);

drawTree(d - 1,

<M< M
+ 4+ + +

main(void) {
drawTree(6, 128, 255, 128, -3.1416 / 2);
return 0;
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